Potencias de 10 (I)

Calcule los siguientes productos y cocientes.

0,879 = 10!

7,852+ 10!

0,298 x 10°

8,145+ 10?

3,553 x 10°

3,475 x 102

2,785+ 103

8,413+ 107

7,169 + 10!

7,283 = 10!

3,719+ 10!

9,398 x 10!

0,263 =+ 10!

5,908 + 10!

7,587 x 10!

5,327+ 103

0,768 =+ 10!

6,702 = 103

4,996 +10°

7,448 x 10°
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Potencias de 10 (I) Respuestas

Calcule los siguientes productos y cocientes.

0,879 10!
0,0879
7,852 +10!
0,7852
0,298 x 10°
298
8,145+ 107
0,08145
3,553 x 10
3.553
3,475 x 10?
347,5
2,785+ 10°
0,002785
8,413 =102
0,08413
7,169 = 10!
0,7169
7,283 = 10!
0,7283

3,719 + 10!
0,3719
9,398 x 10!
93,98
0,263 = 10!
0,0263
5,908 = 10!
0,5908
7,587 x 10!
75,87
5,327 = 10°
0,005327
0,768 = 10!
0,0768
6,702+~ 10
0,006702
4,996 = 10?
0,04996

7,448 x 10°
7.448
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